Best model for HELP_J120743.993-022012.248 at z = 1.118 x°=3.46
OPTx?=4.6 IRx?=0.07 threshold (OPT IR)=16.95 [um]

102 _ . Stellar attenuated
E = e Stellar unattenuated
] —— Dust emission
10! e —— AGN emission
E = Model spectrum
] ® Model fluxes
100 3 M oObserved fluxes
Z: 10—1 1 {F_-f,-r-.,
£ E PR,
% 1072 4
S
[T E
1073 3
1074 4
507 1
= 1 ]
= ] ==f=(Obs-Mod)/Obs
3 ]
.-9 L
n | L
] o - - e T ——————— e S S U e e e  — ————————————— -
o ]
GJ ] |
2 1
S ]
o -1
]
[a'd

10° 10t 102 103 104 10
Observed wavelength [um]



